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0588235294117647058823529411764705882353
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(1) |:| V R-ConcatenatingSquares 1257

A, +Bg, =Cppe =(107° + 1)/ 257
C,,, =00389105058365758754863813229571984435797665369649805447470817127 +
06225680933852140077821011673151750972762645914396887159533073932
= 0038910505836575875486381322957198443579766536964980544747081712
0622568093385214007782101167315175097276264591439688715953307393;
Len(1/257) =256
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9961089494163424124513618677042801556420233463035019455252918287
9377431906614785992217898832684824902723735408560311284046692607;
640 41 (1320 24 320 | 47
% Con’ Ao+ Boo = Goo Con = 10257+1 ) élo 25-7 16§ ' §16 >§'2C;7 +1§
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0038910505836575875486381322957198443579766536964980544747081712}
0622568093385214007782101167315175097276264591439688715953307393
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@ kl'N Cslzk+128 VR- C2n C512k+128 - A256k+64 + BZS6k+64
. 2, 2
10128(4k+1) +1 B 61064(4k+l) _ 16 u N 616>§_O64(4k+1) +1u

a(k) = =
(k) 257 & o7 Y& o257 H
10™8 }(10™°¢ - 1) X107 +1) &0 -16 % -
= + = 2% 1072%¢1Y +(C
257 (Co) 257 52 (Co)
64(4k+1) | 472
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257
~ 6256 074D +16l]2 €16 0544k +1l]2
“& o 48 =
e u e u
Co1as128 VR-ConcatenatingSquares A§56k+64 + B§56k+64 = Cookazs (KT N)
610 +160° €160 +2560° _ [101% +16] 2
@ C,,: X, +EK,=C = © A pl
384 ’%92 Ei292 384 g 57 H g 257 3 257

0038910505836575875486381322957198443579766536964980544 747081712
0622568093385214007782101167315175097276264591439688 715953307392
9961089494163424124513618677042801556420233463035019455252918288  +
0622568093385214007782101167315175097276264591439688715953307392
9961089494163424124513618677042801556420233463035019455252918287
9377431906614785992217898832684824902723735408560311284046692608 2
= 0038910505836575875486381322957198443579766536964980544 747081712
0622568093385214007782101167315175097276264591439688715953307392
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e u e u
a(k) = OO 41 _ €256:07H - 16U oy , 2607 +256 U
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@] ] VRC, 65537 Len(1/65537) = 65536

1032768 +1
Cazres A126384 + 8126384 =Caores = W

1/65537 -Visua Basic 6.0
0000152585562354090055998901383L 7705723484443901918000518790912° +

0039061903962647054335718754291L 2665212017638891008132810473473°
= {OOOO152585562354090055998901383L 7705723484443901918000518790912 |

0039061903962647054335718754291L 2665212017638891008132810473473)
a 'A821920 + B51920 :0163840 ’A1247456 + Bf47456 = C294912 ’A512992 + 8212992 = C425984 ’K

2 2 - 2 2 - 2 2 —
A49152 + B49152 - C98304 ! A114688 + Bll4688 - C229376 ’A180224 + B180224 - C360448 ’K

Q@
32768 65536 k _ 65536k 32768
(k) = 1077110 D (105 +1) 107 +1
65537 65537
&1 0L63844k4) _ o5 UZ G561 (163844k+D 4 102
& es3r 07§ emsar U
e u e u
10%27684k+D) | q
65537
C131072k+32768 V R- C2n A§5536k +16384 + B§5536k +16384 = CfSlO?Zk +32768 (kl N)
3
6384(4k- 1) 2
a(k) = [10" + 256]
65537
€105 4 2561 6256:40*“Y + 6553601
=5 © + A .
& 65537 § & 65537 d
32768(4k- 1)
(k) = 55536110 +1]
65537
_ 665536240 - 2560 €256:40“? +65536 01
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Cl31072k- 32768 VR_ C2n A(§5536k-l6384 + %25536k-16384 = C:‘l231072k-32768 (kT N)

( )|:| Primes as a Sum of Two Squares
(4k +1) p
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() | || || | Concatenating Squares ~
(10° +1)/17,(10"® +1)/257,(10°"% +1) /65537

|:| VR-ConcatenatingSquares C,,, 1 ( )
P
p F =22+1 1071 ° 1 (mod p)
é 20 .
_ _elo? +1;_¢ u
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1
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P
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a(k)  Cippyaney V R-ConcatenatingSquares C,,

2

()~C) VR-GC,,
Yp Yp
() VRCy&m/p p (4&+D
2
|:| VR-ConcatenatingSquares C,, & m VR-C,
P
(mn

nr m? — = an’ o

—= =0A, =0{X|&|Y Len —T—L

p m’+n? - Y QDQ;

& t o (L-1)
[X]&[Y]

2 L
AL :&:W
_ 5
a o[e[X]=0B, =M B, =[v]a[x]={MNE0 -1
p
L

v ]} +{ BBB K[BB[mu]}
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A
é . au é
:an gaAL&O(J—l)L+’[+l;I +anu ga B )g-o(j l)L+t
e ei a e ei=1
em

(10L 1)U e2k (j-pL+2 U <m2(102t +1)>
LB /B T Y
§ p fHes 8 p

. m2 102kL+2t +1
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p

~11~



VR- CZkL+2t
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2 2
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4
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10-° 1 (mod p) p p ° 1(mod 4)
L (@<L<p) (L.,p)=1
@ 10" +1° 0 (mod p)
s age 1022 0 1 (modp) (kI N)
<l VR-C,, e m?(mi N)
m? 02 o (. m?) (mod p) gm?(10* +1)g° 0 (mod p)
ém?(10* +1) U 2(10% + ] .
€ ( D )l,'J VR-C, m= (12) ) :Af+Bf:8At| B.4
é U

m2 @024+ 115
atk)= 1 & d

_ M*GoTH - 107y ém? (10* +1)0
- u
p E P 0

ém?(10-- 1)U €3 .y ., U
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V R-ConcatenatingSquares C,, (m?/p)

(4k+1)
C,, VR-ConcatenatingSquares C,, & m?/n? +n? m?/p
C, |12°+33°=1233 (4#+11°=137)|121137
C, |882+33°=8833 (&+3=73)|9/73
C, | 010%+100°=10100 (1*+10*=101) | 10G101
C, | 9902 +1002= 990100 (992 +10%=9901) |100/9901
C, | 0588+ 2353%= 05882353 (05887 + 2353° = 05882353) | 5536609/ 5882353
C, | 9412%+ 2353%= 05882353 (4*+12=17)| 117
C,, | 990107+ 099012= 9901009901 (102+12=101) | 1101
C,, | 823507+ 38125° = 8235038125 (54%+25%=3541) | 625/3541
C,, |123288?+328768%=123288328768 (3*+8=73)|64/73
C,, | 883212*+321168%= 883212321168 (11°+ 4°=137)| 16437
C, | 8620690% + 3448276° = 86206903448276 (5°+2°=29)4/29
C,, | 0889680%+ 2846976°= 08896802846976 (5%+16°=281) | 256/281
C., | 9231820° + 2663025° = 92318202663025 (52%+15°= 2929) | 225/2929
C,s | 556423007 + 49680625 = 5564230049680625 (28%+ 25°=1409) | 6251409
C, | 890868607+ 31180401% = 8908686031180401 (20°+ 77 = 449) | 49/ 449
C,s | 70861600°+ 45440001° = 708616004540001  (800°+ 513" =903169) | 263169/903169
C, [18130312°+38526913%=1813031238526913 (8°+177=353) | 289/353
C,s | 02496100° +15600625° = 0249610015600625 (4°+ 25°= 641) | 625/641
) On the Representation of VR-C,, asa Sum of Two Squares
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- ( 1 & ( )u’%é. 10U DL 2 0= ( )+AL><S§110“'1)L 2{3
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VR-C,, Class 2k
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VR-C,, Class a
(L,t)® (L,KL +t)
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VR- C(8k+2)t
VR- Cg 2+ ConjugateV R-ConcatenatingSquares C,, VR-C, ~
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2 |:| On the Representation of VR-C,, asa Sum of Two Squares

VR- C,, Numbers Associated with Reciprocals of Primes of Particular Forms

VR-ConcatenatingSquares C,, & ﬁ
p

r2+1

a m? +n2|r2+1

r=10"® r =10%?2 (u,v)P (a,b)=(mv,mu)

a’+b*=C,,

82 +32|1016k-4+1

a840%“ 2 +8 8x10% 2 - 30 aB440% %~ 24 2430° 2 +640
73 B 5, & ® B 5

_6410° 7 +1) _ <64(1012 +1)> N 264(108 -1 Exg gl) 10%2i*)
é

C =
1ok-4 73 73 73 06

u
N
0

ad140%? +4 4x0%2 - 116, ad6x10% % - 44 44X0°%% +160

137 ' 137 - 137 137 ;
42 +112 1016k-4 +1 3 3 (4] 3 3 %)
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@ m2+n2| r+1 r=10"® r =10%**? (u,v)P (a,b)=(mv,mu)
a’+b*=C,,
a840%*? +3 3x0°? - 30 a®x10%*? - 24 240%*% +90
32 +82| 1016k+4 +1 73 , 73 5 73 ’ 73 5
9(10'*** +1) /9(10*+)\ €9(10°- 1)U éx U
c. . =X ):< ( 1>>+ ¢~ U8 ) pera
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o m2+n2| r2+1 r =10" ® r =1Q°5e6 16384 (u,v): (a,b) =(mv, mu)

2567 +17 1077 +1 a?+b?=C,,
310D 1 D56 D56 x| (164D 1o 5536 101 256 256 A0 + 65536 0
& 65537 65537 g g 65537 ! 65537 o
_ 65536[10%7%% 1>+1] 65536(107%*+1) e65536(1065536 DO EEY sy U
C131072k 32768 g U xa 10 u
65537 65537 & 65537 06 i
3
a  VR-GC, (m?/ p)
VR- C,
VR- C,
VR-C,, Class
Q
VR- C,,
3 VR- C, |® |VR- Cg.ny: d (4k+1)
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( )|:| On the Representation of VR- C,, as a Sum of Two Squares
Euclidean
Symmetric Decomposition of Symmetric Integer Matrices
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On the Decomposition of a VR Number Associated with
Reciprocals of Primes of Particular Forms
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VR- C,, C, {n=23,4,56,7,8,9,10}

VR-C,  117,1/257,1/65537

n>4 F, F,
VR- C,,
r =10" r=q" q V R-ConcatenatingSquares
Visua Basic 6.0
VR-C, -
VR- C,
Len(m?/p)
VR-C,, Class m?/p
C, | Cegu. |Len(¥73)=8 Len(¥137)=8
Co | Conso Len(19901) =12
C, | Cous Len(J17)=16 Len(15882353) =16
Co | Cueao | LEN(¥3541)=20 Len(1/27961) = 20
Co | Cae | Len(109990001) = 24
Cu | G | Len(¥29)=28 Len(1/281)=28 Len(1/121499449) = 28
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16 o6 | | en(}1409) =32 Len(1/69857) =32
i1 U
IR 1’;‘ p=17.257,63537y
|
VR-C, ] [ ]
VR- C, VR-C,, Class
Step® VR-C, ~ VR- C,
swo [ VRec, w/p
VR- C,

VR- C, ® VR-C,, Class® ConjugateVR-C,, Class
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(4)
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a=t, X0 b=t x0* +1 a b t, =10%* -1
VR- C,
Con m’ +n’ A, B, C,,
5 |'l
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Cax-2 101 101 o
{9900} k- 2{ 990}1_{ 0990} k- 1{100}1
4k +2 4k+2 @2k+1 i-1 . \2
1+10° 100077+ A0+ 5168 (-1 =02y
Cos2 101 101 Bia g
{9900}k - 1{99010}1_{ 099}1{ 0099}k - 1{ 01}1
) z°° -1 (mod n)
z° 10" (mod n) M
z Euclidean Jn X y x*+y?=n

~18~
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) (Visual Basic 6.0)
Private Sub Commandl_Click()
howlong = Va(Textl.Text)

For i = 10 To howlong
aong = Len(i)
a=(25*10"(2* (dong -1))- (i~2-1))
If a>= 0 Then
D=a”(1/2
If D - Int(D) =0 Then
Text2.Text = ((5* 10~ (dong - 1)) + D) & vbCrLf & Text2.Text
Text3.Text =1 & vbCrLf & Text3.Text
End If
End If
Next i
End Sub
Private Sub Command2_Click()
End
End Sub

2| (Visua Basic 6.0)

Dim a(200), b(200), c(400)

Dim txt, ans

Dim arraya(400), arrayb(400), arrayc(400) As Integer

Private Sub Commandl_Click()
Fori=1To400
arraya(i) = 0: arrayb(i) = O: arrayc(i) = 0
Next i
txt = Textl
check
ansa=ans
txt = Text2
check
ansb = ans
longa = Len(ansa)

Fori =1 To longa
arraya(i) = Mid(ansa, longa - i + 1, 1)
arrayb(i) = Mid(ansb, longa - i +1, 1)
Next i

Fori =1 To longa
numa = Va(arraya(i)) + Val(arrayb(i))
If Len(numa) = 2 Then
arraya(i + 1) = Vad(arraya(i + 1)) + Va(Left(numa, 1))
arrayc(i) = Right(numa, 1)
Else
arrayc(i) = numa

~20~



End If
Next i
Fori =1 To longa

answer = arrayc(i) & answer
Next i

Text3.Text = answer
End Sub
Private Sub Command2_Click()
End
End Sub
Private Sub check()
ans=""
Fori=1To 200
ai)=0:b(i)=0
Next i
Fori=1To400
c(i)=0
Next i
along = Len(txt)
Fori=1Toaong
a(i) = Mid(txt, along - i +1,1)
b(i) = Mid(txt, dlong - i+ 1, 1)
Next i
Fori =1 To aong
n=-1

Forj =1 To aong
n=n+1
temp = a(i) * b(j)
If Len(temp) = 2 Then
c(i + n) =c(i +n) + Va(Right(temp, 1))
tempb = c(i + n)
If Len(tempb) = 2 Then
c(i + n) = Right(tempb, 1)
ci+n+1) =c@ +n+ 1) + Va(Left(tempb, 1))
End If
ci+n+1) =c(+n+1) + Va(Lefttemp, 1))
Else
c(i +n) =c(i +n) + temp
tempa = c(i + n)
If Len(tempa) = 2 Then
c(i + n) = Right(tempa, 1)
ci +n+1 =c( +n+ 1)+ Va(Left(tempa, 1))
End If
End If
Next |
Next i
Fori=1Toaong* 2
ans = ¢(i) & ans
Next i
End Sub
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3 (Visual Basic 6.0)|
Dim aong As Double
Dim Math()

Private Sub Commandl_Click()
Commandl.Enabled = False
Dim A, B AsLong
Dim Tim As Double
Dim Ans As String
ReDim Math(along)
A =Vad(Textl.Text)
B = Va(Text2.Text)
Text3.Text =""
Ans="0"
Do
If A<B Then
If Tim =0 Then
Ans = Ans & "."
Else
Ans = Ans & Math(Tim)
End If
Tim=Tim + 1
Do WhileA <B
A=A*10
If A <B Then
Ans = Ans & "0"
Tim=Tim + 1
End If
Loop
End If
Math(Tim) =A\B
A=A Mod B
If A=0Then
Ans = Ans & Math(Tim)
Exit Do
End If
Label1.Caption = Tim
If Tim = aong Then Exit Do
DoEvents
Loop
Text3.Text = Ans
Commandl.Enabled = True
Label1.Caption =
End Sub
Private Sub Form_Activate()
along = InputBox
End Sub
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